a(d cot(d))
5

a(0 @) (raqd)

1072

1073

Bl | 24
i Y !

<='6<'4;

0 1 2 3 -3
TP n (PCA to beamline)

2 3
TP n (PCA to beamline)

[—=— DQM_VUOUI_RUUOU0OOUUL__Global_CMSSW_CKi__RECO
—e— DQM_V0001_R000000001__Global_CMSSW_mkfit__RECO

—— DQM_V0001_R000000001_Global —_CMSSW_mkfitCowPtQuad__RECO
— — DOM_V0001_R000000001 _Global _CMSSW _mkfitLowPtTriplel__RECO

= =

= 1] I

5 5]

2 =

= = L
< -

> o 14-1

o 210

= ©

3

1072
1072

....... ottt
R il

3= -1 o0 1 2 3 e

o p/p.)

Ratio

A1
1T 2 3
TP n (PCA to beamline)

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


